
Multiplication de Nombres Entiers (G)

Calculez chaque produit.

21× (−20) =

25×23 =

(−35)× (−30) =

20× (−50) =

21×12 =

(−27)× (−34) =

12×17 =

10×11 =

(−2)×30 =

(−28)×22 =

(−8)×41 =

(−21)×9 =

17× (−48) =

2× (−22) =

32×17 =

42×34 =

50× (−26) =

47×27 =

13×25 =

3×33 =

(−38)×45 =

33× (−3) =

(−5)× (−2) =

38×20 =

23× (−35) =

(−2)× (−43) =

48×45 =

(−40)× (−48) =

11×10 =

(−14)×25 =

9×14 =

(−38)×36 =

18×22 =

(−21)× (−45) =

(−29)× (−31) =

3×13 =

(−46)×24 =

(−10)×10 =

(−47)× (−9) =

46× (−45) =

0×19 =

(−49)×28 =

46×19 =

(−16)×8 =

12× (−1) =

MathsLibres.com



Multiplication de Nombres Entiers Solutions (G)

Calculez chaque produit.

21× (−20) =−420

25×23 = 575

(−35)× (−30) = 1050

20× (−50) =−1000

21×12 = 252

(−27)× (−34) = 918

12×17 = 204

10×11 = 110

(−2)×30 =−60

(−28)×22 =−616

(−8)×41 =−328

(−21)×9 =−189

17× (−48) =−816

2× (−22) =−44

32×17 = 544

42×34 = 1428

50× (−26) =−1300

47×27 = 1269

13×25 = 325

3×33 = 99

(−38)×45 =−1710

33× (−3) =−99

(−5)× (−2) = 10

38×20 = 760

23× (−35) =−805

(−2)× (−43) = 86

48×45 = 2160

(−40)× (−48) = 1920

11×10 = 110

(−14)×25 =−350

9×14 = 126

(−38)×36 =−1368

18×22 = 396

(−21)× (−45) = 945

(−29)× (−31) = 899

3×13 = 39

(−46)×24 =−1104

(−10)×10 =−100

(−47)× (−9) = 423

46× (−45) =−2070

0×19 = 0

(−49)×28 =−1372

46×19 = 874

(−16)×8 =−128

12× (−1) =−12
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